6620 Nordic Drive MAGNUM HOLE CUTTER

Cedar Falls, lowa 50613 USA

GOUE mwmmamy thors: 31525524% 28960, 28970, 28980

Key Number/ltem Description/Quantity/Part Number

1 Insert Assembly Weldment 1 28907
2 Ejector Handle Weldment 1 28909
3 Ejector Push Rod Assembly 1 28908
4 Expeller Assembly 1 28915
5 Shell, Scalloped Qutside 1 28953
6 Wooden Handle 1 28204
7 1/4 x 1-3/4” Clevis Pin 2 13-01042
8  Split Rings 2 13-01045
9 Pivot Bushing 2 28910
10 1/4-20 x 1” Grade 2 - Zinc 1 13-01040
11 1/4-20 Hex Nut - Zinc 1 13-01045
12 3/8” SAE Flat Washer - Zinc 6 26413
13 5/16-18 x 3/4” Hex Washer Head 3 13-01002
14  3/8-16 Hex Nut - Zinc 6 13-01001
15 Depth Gauge (Optional) 1 28600

PMMHC-28980-A



